Quiz 2

(M This is a preview of the published version of the quiz

Started: Mar 18 at 11:35am
Quiz Instructions

This quiz covers the topics in Homework 8 and 9.

It is not timed or proctored. You have a maximum of three attempts.

Question 1

Solve the equation logg x = —4
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Question 3 1 pts
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Question 4 1 pts

What can be inferred from the equation 2% = 3% 2

Op=_2

b logs 2
Op=_2

log, 3

O b=alog, 3
O b=alogz 2
Question 5 2 pts
Let2® =5

Choose ALL correct statements.
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(] xz=1logy 5

Oxz=4+/5b

Question 6 2 pts

Choose ALL correct statements. The numbers a and b are assumed to be positive.

Ja’=0

() In(ab) =Ina + Inbd

() log,1=0 (wherea >0, a #1)
(JIna=1log,a

() loga = logp a

(] In(2¢) =2Ina

() In(a+b) =Ina+1nbd

()1°=a

Question 7 1 pts

The expression
log 3 — %log(w —1)+2logzx

can be written as a single logarithm as follows:




O 10g(3 —Ve—1+ :1:2)

Question 8

The domain of the function e/ is

O (_OO,O)
O (—OO, 0) U (07 OO)
O (—O0,00)

O (0, 00)

Question 9

The domain of the function ln( L

O (_1, 0) U (17 OO)
O (—OO, _1) U (07 1)
O (0,1) U (1,00)

O (_170) U (Oa 1)

Question 10

Choose ALL correct statements. The number a is assumed to be positive.

O log(1) = —1loga

(] log, 5 (a) = —logy a
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() In(a®) = (lna)?

() logy a = %1og2 a
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